

Local Government Elections 2007: Declaration of result West Dunbartonshire Council: Lomond electoral ward

FINAL REPORT

Here is the result of the election in the Lomond electoral ward of the West Dunbartonshire Council local authority.

The percentage poll was 57.80%.

And I declare that after application of the STV count rules, the following have been duly elected to serve as Councillors for the Lomond ward of the West Dunbartonshire Council local authority:

Candidate Name		
Craig McLaughlin	1	
Martin Rooney	1	
Ronald McColl	6	

(b) Of the total ballot papers, the following were rejected as void and not counted on account of:

	Reason	Number of papers
(a).	Want of unique identifying mark / official mark	0
(b).	On which the figure "1" standing alone indicating a 1st preference is set opposite the name of more than 1 candidate	102
(c).	Writing or mark by which voter can be identified	1
(d).	*Unmarked or void for uncertainty	34
	Total ballot papers rejected	137

* Unmarked or	void for	uncertainty:	Note -	this will	also	include	ballot	papers	rejected
under Rule 43	(1) (b).								

Signed:	
Date:	

« Back to Full Result Sheet Detailed Description » Declaration »

Election For	Lomond FINAL REPORT		
Date	04/05/2007		
Number to be elected	3		
Valid Votes	5111		
Rejected as void	137		
Quota	1278.00000		
And the state of t	Name	eSTV	
Software	Version 2.0.16		
	Registration 1711192147		
Rules	WIG		

	Stage 2				
	First	Surplus of			
Candidates	Preferences	Martin Roone	Martin Rooney		
David Jardine	613.00000	3.27264	616.27264		
Richard Giles McCarthy	206.00000	2.80512	208.80512		
Ronald McColl	1060.00000	5.99984	1065.99984		
Craig McLaughlin	1317.00000		1317.00000		
Louise Robertson	251.00000	2.80512	253.80512		
Martin Rooney	1386.00000	-108.00000	1278.00000		
Ann Rushforth	278.00000	70.59552	348.59552		
Non-transferable	0.00000	22.52176	22.52176		
Total	5111	The state of the s	5111		

		2	Stage 3		
	First		Surplus of		
Candidates	Preferences		Craig McLau	ughlin	
David Jardine	613.00000	616.27264	1.06596	617.33860	
Richard Giles McCarthy	206.00000	208.80512	1.30284 210.107		
Ronald McColl	1060.00000	1065.99984	27.38925 1093.389		
Craig McLaughlin	1317.00000	1317.00000	-39.00000 1278.000		
Louise Robertson	251.00000	253.80512	2.04309 255.8482 1		
Martin Rooney	1386.00000	1278.00000		1278.00000	
Ann Rushforth	278.00000	348.59552	1.48050	350.07602	
Non-transferable	0.00000	22.52176	5.71836	28.24012	
Total	5111	5111		5111	

		3	Stage 4		
	First		Exclusion of		
Candidates	Preferences		Richard Giles McCarthy		
David Jardine	613.00000	617.33860	27.22597	644.56457	
Richard Giles McCarthy	206.00000	210.10796	-210.10796	0.00000	
Ronald McColl	1060.00000	1093.38909	48.66700	1142.05609	
Craig McLaughlin	1317.00000	1278.00000		1278.00000	
Louise Robertson	251.00000	255.84821	23.56726	279.41547	
Martin Rooney	1386.00000	1278.00000		1278.00000	
Ann Rushforth	278.00000	350.07602	35.61557	385.69159	
Non-transferable	0.00000	28.24012	75.03216	103.27228	
Total	5111	5111		5111	

		4	Stage 5	
	First		Exclusion of	
Candidates	Preferences		Louise Robertson	
David Jardine	613.00000	644.56457	20.35220	664.91677
Richard Giles McCarthy	206.00000	0.00000		Bart .
Ronald McColl	1060.00000	1142.05609	82.35270	1224.40879
Craig McLaughlin	1317.00000	1278.00000	,	1278.00000
Louise Robertson	251.00000	279.41547	-279.41547	0.00000
Martin Rooney	1386,00000	1278.00000		1278.00000
Ann Rushforth	278.00000	385.69159	34.64518	420.33677
Non-transferable	0.00000	103.27228	142.06539	245.33767
Total	5111	5111		5111

		5	Stage 6		
	First		Exclusion of	į	
Candidates	Preferences		Ann Rushfort	Ann Rushforth	
David Jardine	613.00000	664.91677	65.25485	730.17162	
Richard Giles McCarthy	206.00000	-		-	
Ronald McColl	1060.00000	1224.40879	86.24747	1310.65626	Elected
Craig McLaughlin	1317.00000	1278.00000		1278.00000	Elected
Louise Robertson	251.00000	0.00000		-	
Martin Rooney	1386.00000	1278.00000		1278.00000	Elected
Ann Rushforth	278.00000	420.33677	-420.33677	0.00000	
Non-transferable	0.00000	245.33767	268.83445	514.17212	
Total	5111	5111		5111	

^{© 2007} Electoral Reform Services Limited.

Reading 7 candidates, and 3 vacancies.

Using Rule set: WIG 5 decimal places 0 votes invalid

Registered by: Joe Otten Registered to: Joe Wadsworth

Email: wig@erbs.co.uk

Expires: 19 January 2008 00:36

License type: WIG

This edition of eSTV is limited to 3000 candidates and 100000 ballot papers.

Lomond Stage 1

Total Valid Vote: 5111 Places to be filled +1: 4 Quota = 1278.00000

First Preferences
David Jardine 613.00000
Richard Giles McCarthy 206.00000
Ronald McColl 1060.00000
Craig McLaughlin 1317.00000
Louise Robertson 251.00000
Martin Rooney 1386.00000
Ann Rushforth 278.00000

Martin Rooney ELECTED

With 1386.00000 over quota 1278.00000

Craig McLaughlin ELECTED

With 1317.00000 over quota 1278.00000

Stage 2 Surplus of Martin Rooney 1386.00000 transferred

This is more than the surplus of 108.00000

So ballot paper value reduced by a factor of 0.07792

Transfer from Martin Rooney: 1386 at 0.07792 = 107.99712

Transfer to David Jardine: 42 at 0.07792 = 3.27264

Transfer to Richard Giles McCarthy: 36 at 0.07792 = 2.80512

Transfer to Ronald McColl: 77 at 0.07792 = 5.99984 Transfer to Louise Robertson: 36 at 0.07792 = 2.80512 Transfer to Ann Rushforth: 906 at 0.07792 = 70.59552 Transfer to Non-transferable: 289 at 0.07792 = 22.51888

0.00288 non-transferable due to rounding

Stage 3

Surplus of Craig McLaughlin 1317.00000 transferred

This is more than the surplus of 39.00000

So ballot paper value reduced by a factor of 0.02961

Transfer from Craig McLaughlin: 1317 at 0.02961 = 38.99637

Transfer to David Jardine: 36 at 0.02961 = 1.06596

Transfer to Richard Giles McCarthy: 44 at 0.02961 = 1.30284

Transfer to Ronald McColl: 925 at 0.02961 = 27.38925 Transfer to Louise Robertson: 69 at 0.02961 = 2.04309 Transfer to Ann Rushforth: 50 at 0.02961 = 1.48050 Transfer to Non-transferable: 193 at 0.02961 = 5.71473

0.00363 non-transferable due to rounding

Stage 4

Excluding Richard Giles McCarthy

Transfer from Richard Giles McCarthy: 206 at 1.00000 = 206.00000

Transfer from Richard Giles McCarthy: 36 at 0.07792 = 2.80512

Transfer from Richard Giles McCarthy: 44 at 0.02961 = 1.30284

Transfer to David Jardine: 27 at 1.00000 = 27.00000

Transfer to David Jardine: 1 at 0.07792 = 0.07792

Transfer to David Jardine: 5 at 0.02961 = 0.14805

Transfer to Ronald McColl: 48 at 1.00000 = 48.00000

Transfer to Ronald McColl: 4 at 0.07792 = 0.31168

Transfer to Ronald McColl: 12 at 0.02961 = 0.35532

Transfer to Louise Robertson: 23 at 1.00000 = 23.00000

Transfer to Louise Robertson: 5 at 0.07792 = 0.38960

Transfer to Louise Robertson: 6 at 0.02961 = 0.17766

Transfer to Ann Rushforth: 35 at 1.00000 = 35.00000

Transfer to Ann Rushforth: 6 at 0.07792 = 0.46752

Transfer to Aim Rushfortii. U at 0.07772 - 0.40732

Transfer to Ann Rushforth: 5 at 0.02961 = 0.14805

Transfer to Non-transferable: 73 at 1.00000 = 73.00000

Transfer to Non-transferable: 20 at 0.07792 = 1.55840

Transfer to Non-transferable: 16 at 0.02961 = 0.47376

Stage 5

Excluding Louise Robertson

Transfer from Louise Robertson: 274 at 1.00000 = 274.00000

Transfer from Louise Robertson: 41 at 0.07792 = 3.19472

Transfer from Louise Robertson: 75 at 0.02961 = 2.22075

Transfer to David Jardine: 20 at 1.00000 = 20.00000

Transfer to David Jardine: 3 at 0.07792 = 0.23376

Transfer to David Jardine: 4 at 0.02961 = 0.11844

Transfer to Ronald McColl: 81 at 1.00000 = 81.00000

Transfer to Ronald McColl: 9 at 0.07792 = 0.70128

Transfer to Ronald McColl: 22 at 0.02961 = 0.65142

Transfer to Ann Rushforth: 34 at 1.00000 = 34.00000

Transfer to Ann Rushforth: 6 at 0.07792 = 0.46752

Transfer to Ann Rushforth: 6 at 0.02961 = 0.17766

Transfer to Non-transferable: 139 at 1.00000 = 139.00000

Transfer to Non-transferable: 23 at 0.07792 = 1.79216 Transfer to Non-transferable: 43 at 0.02961 = 1.27323

Stage 6

Excluding Ann Rushforth

Transfer from Ann Rushforth: 347 at 1.00000 = 347.00000
Transfer from Ann Rushforth: 918 at 0.07792 = 71.53056
Transfer from Ann Rushforth: 61 at 0.02961 = 1.80621
Transfer to David Jardine: 57 at 1.00000 = 57.00000
Transfer to David Jardine: 101 at 0.07792 = 7.86992
Transfer to David Jardine: 13 at 0.02961 = 0.38493
Transfer to Ronald McColl: 74 at 1.00000 = 74.00000
Transfer to Ronald McColl: 153 at 0.07792 = 11.92176
Transfer to Ronald McColl: 11 at 0.02961 = 0.32571
Transfer to Non-transferable: 216 at 1.00000 = 216.00000
Transfer to Non-transferable: 37 at 0.02961 = 1.09557

Ronald McColl ELECTED

With 1310.65626 over quota 1278.00000

^{***}Finished***